Mott Detector Energy Spectra (Normalized)
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Au 5 um Foil — Run 7394

RunTime = 548s

Beam Current = 0.104857 uA
Beam Momentum = 5.699 MeV
1/2 Wave Plate = IN

N_LEFT p = 58731
N_LEFT m = 39892

N_RIGHT p = 40036
N_RIGHT m = 60398

N_UP p=51694
N UP m=51826

N_DOWN p = 54570
N_DOWN m = 55417

Horizontal Mott Asymmetry
Ax_Phy (%) =-0.3213 £0.2165

Vertical Mott Asymmetry
Ay phy (%) =-19.688 + 0.2197
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Curves
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*Fit Gaussian to known good time of

flights in specified range

*First range — [18, 24]
*Second range — [48, 54]

* Fitting ranges also used for time of

flight cuts
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Mott Detector Energy
Spectra (Normalized)

Au 1 um Foil — Run 7404

RunTime = 531s

Beam Current = 0.829845 uA
Beam Momentum = 5.699 MeV
1/2 Wave Plate = OUT

N_LEFT p=23821
N_LEFT m = 48300

N_RIGHT p = 51091
N_RIGHT m=24141

N_UP p=38787
N _UP m=37831

N_DOWN p =41156
N _DOWN m = 40418

Horizontal Mott Asymmetry
Ax_Phy (%) =-0.1715 +/- 0.2515

Vertical Mott Asymmetry
Ay phy (%) = 34.885 +/- 0.2441
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Mott Detector Energy
Spectra (Normalized)

Au 0.75 um Foil — Run 7410

RunTime = 520s

Beam Current = 1.10433 uA
Beam Momentum = 5.699 MeV
1/2 Wave Plate = IN

N_LEFT p=46071
N_LEFT m=21783

N RIGHT p = 22345
N_RIGHT m = 48276

N _UP_p = 35600
N _UP_m = 36458

N_DOWN p = 37428
N_DOWN_m = 38176

Horizontal Mott Asymmetry
Ax_Phy (%) =0.10068 +/- 0.26032

Vertical Mott Asymmetry
Ay phy (%) =-36.2574 +/- 0.250488
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Mott Detector Energy
Spectra (Normalized)

Au 0.05 (1) um Foil — Run 7428

RunTime = 1211s

Beam Current = 2.64848 uA
Beam Momentum = 5.699 MeV
1/2 Wave Plate = IN

N_LEFT p=16196
N_LEFT m = 6338

N_RIGHT p = 6151
N_RIGHT m = 15876

N UP p= 11591
N _UP m= 11908

N_DOWN p = 12322
N_DOWN_m = 12588

Horizontal Mott Asymmetry
Ax_Phy (%) = 0.140595 +/- 0.454729

Vertical Mott Asymmetry
Ay phy (%) =-43.949 +/- 0.425553



RLEFT_ToF
c Entries 187865
016 Mean  45.05
C RMS 15.99
0.14f
0.12
0.1
0.08
0.06]-
0.04
0.02F
Dzlllllllllil"lu—l"-l—l—ll-lllllllll I'LII|IIII|IIII
0 10 20 30 40 50 60 70 80 90
hUP_ToF
F Entries 196154
0.16 1 Mean  44.18
B RMS  15.99
0.141-
0.12F
0.1F
0.08F-
0.06F
0.04F
0.021-
D_IIII|IIII_.-I-1JJ'|-.I_IJ-IJII|IIII I'|.II|IIII|IIII
0 10 20 30 40 50 60 70 80 90

hRIGHT ToF

F Entries 374964
':"24:_ Mean 4548
022:— RMS 15.66
0.2E
0.18F
0.16F-
0.14F
0.12F
0.1
0.08F
0.06
0.04F
0.02F h¢ ﬂk
0:||||||||| |—||||1|||||||| |J||r|l|||||||||||||
b 10 30 40 50 60 70 80 90
NDOWN_ToF
0.14F Entries 146060
B Mean  41.58
- RMS 16.07
0.12 I
0.1
0.08
0.061
0.04
0.021
D_IIIIIIIJ%L.J_Jl1.J|||||||-|L¢-'I‘-|—L—'-L.L||||||||||||
0 10 30 40 50 60 70 80

90

Mott Time of Flight
Curves
(TDC17 - TDC18)



0.007

0.006

0.005

0.004

0.003

0.002

0.001

hLEFT E
Enlries 133108
Mean an72
AMS 2444
{ nelt 0.02216 ( 854

0.03428 £ 0.11736

B 0.0007761 £ 0.0010844
A 0.003236 £ 0.011142
Mekn 2822 £ 802.9
Sigina 246.2 + BOT.Y

\

DD

2000 4000 6000

0.007

0.006

0.005

0.004

0.003

0.002

0.001

hUP_E

Enlries 1787R2
Mean 4225
WS 2537
{ndl 0.0231 /648

A 0.03252 + 011268
B -0.0007657 + 0.0010838
A 0.003298 + 0.010651
Megn 8850 + 8201
Signa 2787 L B26.6

\

DD

2000 4000 6000

hRIGHT _E

0.007

0.006

0.005

0.004

0.003

0.002

0.001

380902

Jeaa

200

0.0267 / 634

0.02481+ 0.05775
-.0006448 + 0.0006090
0001672 £ 0.008617
BBEB £ 11259

224.6 + 5295

0.007

0.006

0.005

0.004

0.003

0.002

0.001

DD

4000 6000

hDOWN_E

152845

4361

2538

0.03171 /633

0.03221£ 0.12308
-0.0007826 & 0.0011966
0.004148 £ 0.012363
8673 £ 7303

257.7 1 625.0

C}D

4000 6000

Mott Detector Energy
Spectra (Normalized)

Au 0.05 (2) um Foil — Run 7435

RunTime = 1253s

Beam Current = 2.60314 uA
Beam Momentum = 5.699 MeV
1/2 Wave Plate = OUT

N_LEFT p = 6342
N_LEFT m= 16783

N_RIGHT p = 16250
N_RIGHT m = 6359

N UP p=12333
N UP m= 12028

N_DOWN p = 13216
N_DOWN_m = 12768

Horizontal Mott Asymmetry
Ax_Phy (%) =0.236121 +/- 0.445958

Vertical Mott Asymmetry
Ay phy (%) =44.4519 +/- 0.418895
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